FE77EEFEFNRSUIN O REITT I RS

2024/7/15
L-H T4—9RX | IL—F—XB| TOMOY R |BEHELT(—A| BE# | R4V ,f‘ffﬁ BERE | B
X X 1 — 214 — 519 — 11]1209 — 193
IF—H2R 3 olo — 3|1 — 2 ( -1) ( -1) ( -2) ( 16 ) 3
6 ol 1 - 2 — 5
90 0|5 — 97|64 — 096
X X X O —3|0 — 9|10 — 181 0 — 270
p—t—zg| 0 — 3 o — 3|0 — 3 ( -3) ( -9) ( -18) ( -270) 4
— 6 — 6 — 6
A—T| 0 — 90 0 — 9] 0 — 90
@) @) 3 — 0|8 — 1116 — 41279 — 129
Tomoox| 3 — 03 0 2 — 1 ( 3) (7)) ( 12 ) ( 150 ) 1
— 11686 0 4 — 3
97 — 55| 90 0 92 — 74
@) X 2 — 116 — 3|14 — 6]260 — 156
———— I B ol 1 - (1) ( 3) ( 8 ) ( 104 ) 2
5 — 21686 0] 3 — 4
9% — 64| 90 074 — 92

1/7R=2




RKEd: FIMERREXSEEF)77 3
EH: E@FE(L-H)
1 (I4—9R vs L—F—XB)
215 AR -VtUs-

AAES:

I+—H R

D1

D2

D3

28 EF

Jtm ¥4

HREF

PR ER

2/7R=

L-H
2 - 1
11 — 15
15 — 11
M — 8
11 — 15
1 — 3
7 — 1
15 —
15 — 4

= EfbsE

HR%E EF

ERAR E=



R4 FTTRIRRREEFF)77 did

R : HRE(L-H)

HEES: 2 (TOMOV R vs HBEHELT (—R)

=i5: Ak -Ytva-

TOMOYT X

EH W

D1
R#F #BF

Nt WYL

D2
E 5 T

K& FE

D3
INUA fEF

3/ 71 R=

L-H
2 - 1
14 — 15
15 —
1M — 4
13 — 15
9 — 15
15 — 11
15 — 5

EEELT —A

FEA B

E m%:l_ I\ %



R4 FTTRIRRREEFF)77 did

R : HRE(L-H)

HEES: 3 UL—*F—XBvs TOMOT R)

=i5: Ak -Ytva-

F—T
JL—x—XB

= EfbsE

D1
b3 BETF
A& EF
D2
AR XRZE
HRE EF
D3

4/ 7 R—

L-H
0 - 3
10 — 195
7 — 15
14 — 15
4 — 15
12 — 15
9 — 15

TOMOT X

K7 #iF

E5 HEF

RE Fi=

ARA EBiE

IEHE WF

JNE YT



K24

f2EH: FEAEL(L-H)
AEBES: 4 (I+r—OR vs BEALT 1—R)
=15 AR -vtv4—

D1

D2

D3

I+—H 2R

FITRIXRKRXEEZTI77 XinE

HAET

AR ER

A S =

jtm ¥4

5/7R—=

L-H
1 - 2
8 — 15
8 — 15
15 — 14
10 — 15
m - 7
9 — 15
3 — 15

EEELT —A

Ll = F 4

A =0

XE BT

‘el HE



RKEd: FIMERREXSEEF)77 3
EH: E@FE(L-H)

HEES: 5 UL—*F—XBvs BEALT —R)
215 AR -VtUs-

L-H
A —T
IL—*—XB 1T - 2 BEELT (—2
fEAXK =3¢ 4 — 15 N
D1 0 8 — 15 2
o= RS — RE E
BRI BEF 6 — 15 a2 X8 F
D2 0 13 — 15 2
tbx= HEF — ¥EH EBEE
KE BEF 1 — 0 g =F4%
D3 2 zF — 0 0
1&&* ;i -_ Emﬁ /J\\%

6/7R—



K% FIRIRRREEZFI77 i
EB: E&RE(L-H)
AEES: 6 (I4—URX vs TOMOV R)
S5 AR =YtEUE-

L-H
IA+—O X 0 - 3 TOMOT R
BxREF 5 — 15 Nt YL
D1 0 11 — 15 2
AR ERR _ INLA filF
HEEF 15 — 11 K#% 8BF
D2 1 o — 15 2
B MF 5 — 11 En hiEF
B X¥ 8 — 15 A& T
D3 0 | 6 — 15|
JbH sR&E — ARH Bz

7/7R=



	最終結果
	詳細1
	詳細2
	詳細3
	詳細4
	詳細5
	詳細6

